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- Name the characteristic o - living organisms shown by each of the followine:
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Explain why there is no grass in most dense forests.
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State one structural difference between a cell wall and a cell membrane.
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6.

oA

. ceent im o eerlain Kingdom.
The diagram below shows an organism in a cerlain King,

(a) Name the Kingdom to which the organism belongs.
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(b) State the mode of nutrition for the organism,
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State the importance of a well developed blood capillary network in the alveoli (! mark)
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Name the genetic disorder in humans (hat is characterised by inability of blood to clot, (1 mark)
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showing how temperature affects the rate of
A (1 mark,

8. (a)  Sketch a graph on the axis below
diffusion.

A

[

Temperature (°C)
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Rate of diffusion f

(b) A{icount for the shape of the sketch made in (a) above. (2 marks)
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Explain why plants have lower respiratory rates compared to animals. (1 mark)
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(b)  State two situations in plants whcn the rate of respiration rises more than normal.
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‘ 'lhcdmgram below shows the plan of a pentadactyl limb.

B/ Humerus

P e Wi,
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A ~ Name the bones labelled K and L. | : .
d U \ 2 : (I mark)
na :: =

.........................................................................................................................................

.....................................................................................................................................................

..........................................................

(b)  why the dry mass of the endosperm decreases while that of the embryo increases.
5 : ' (2 marks)
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State two characteristic features used to classify members of Cl
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h el ' urve in a certain Phylum.
. The graph below represents a growth curve 1n a © y

Mass (kg)
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(a)_ Namc the lype of growth curvc shown i (1 ma'rk)f &
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' (b). Name thc Phylum whcre members Show 1he type of growth curve ﬂlust;ated ( l."_ 5rpark_) T
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(b)  Describe cell biology as an evidence of organic evolution, (3 marks)
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The illustration below shows a summary of the maii phascs ¢ uman menstrual cycle,

2

=1 4(h day

\

2 st day
7th day | luteal phase

~ Follicular phase
Menbhmuon /

78[!] day

' : ark
(a)  Name the process that takes place around the J4th day. (1 mark)

(b)  Name two hormones produced at the follicular phase. (2 marks)

. ‘. ; c -
C"}“\ C}l\ﬂ- S"rt*f“ ”‘\a‘r“&:\ \ﬂut S . .::‘..:\?....:\'.T-_(.::f:\....
AR
2 A ol o = 0 o

LJ&@—Q&‘ e np PR T o

(¢)  Under which two conditions would the cycle be interrupted? (2 marks)
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State two reasons why blood rcaching the glomerulus is always under high pressurc. (2 marks)
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13.

During a clinical laboratory test, some sugar was detected in an individual’s sample of urine,

Name: o
ient 1 ient; | mark)

()  the hormone that was deficient in the patien; ( j
the gland that produces the hormone named in (a) above; (1 mark)

(b)

the disease the individual was likely to be suffering from.

(©)

--------------------------------------

rtain protein-digesting enzymes, Sand T.

19.  The graphbelow illustrates the effect of pH on ce
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(@) Name enzymes Sand T,
S /kc (frocs '
Q # (I mark)

DPS;M [ - .'f s . : { ’ ¢

s

. . .
() (i)  Name the part of the alimentary ¢ang] where enzyme T is likel
; s likely

(1 mark)
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»  Explzin the biological significance of completing a dose of antibiotics. (3 marks)
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1L Swze two reasons why females with Tumers” Syndrome are infertile. (2 marks)
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e e ok J

(z)  Define the term “field of view”

a8 '..lSCd. i.n miCrOSCop).“
P Srvdee g

(1 mark)

4 { - P . .
o Fi ) - e i Ad |2
E el - - TN N, U W 4T U;_J_) ) e C uﬁ.h_‘l \('*P .
A 1 A\ e e T T E L L Lt
S N SR .
8 i ez "L‘_':]Q':f e
Rt L . 22 v
tew cama

(b) 2 ‘0 functions of

(2 marks)
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(c)  Giveareason why it is not advisable 10 use water in cleaning a microscope (1 mark)
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Explain the role of blood capillaries in thermoregulation (2 marks)
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The illustration below shows the eftect of hormones on insect growth and development,

Brain
Corpus Neurosecretory
allatum cells

"--..._.__________.___,_,_.--

Hormone K

Eudvaene
hormone

Process M

NN

Egge Larva Pupa Adult

(a)  Name:

(1) the hormone K R : | i |
: -t
u_..j 'n.\'I. \-ilh\:_,- {\\ll VL D _\} T"}
(ii)  gland L that produces ccdysone hormone. = - : (1 miagk)
- ' :
..... Rﬁw'ﬂ LIS & )

............................................................................................................................

(b)  State the role of ecdysone hormone in the growth and dcvelopment of insects. (] mark‘}

-

--------------------------
...........
....................................................................................................
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(€0 ()  Name process M (1 maik

--------------------------------------
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--------------------- L R R L R R

(i)  Account for the rapid increase in size of organ!sms immediately afier moukin

f1a
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25.  (a)  Complete the table below on the adaptations and functioning of some structures in a

/ dicotyledonous stem. (2 marks)

\ Part Adaptation | :

| ( & [@S\VEI N AL VL -SRAT-R T, AT enable TP T i
\ Cambium gﬁ"'ﬂ. B Yoo T e e e el
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- - 3 N A L fice e T S e S 8
L Parenchyma i PNLTn poall L My Pasage S e Seris e |
Hrud Varees o s der . ol s i y .
e 2_ =11 ,_.n": Cuxle [y 21 o Lhapre Ly oL R T A O
' Al Ce Ao+ Pocene - 7

. : i
Explain why the leaf of a sisa Plant has a thick and shiny cuticle. (2 marks)
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~ 26.  Explain why an individual wi

= ‘ith blood group A ;
;d the same blood group., O Saanly

donate blood to an individual with
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27,

'he diagram below Hustrates 3 set of biological processes in a green plant.

J(_rl

Process | Polysaccharide | Hydrolysis
—

ucose
)
N |
Anacrobjc
respiration
Compound Q
(1)  Name:
:
(1) [Jrgg)t:r:all\l (1 mark)
ey a ks

(i) polysaccharide p

o (1 murk)_'__
_—) oA ;
(h)  State two conditj iS¢
; ons necessary for the formation of compound Q (2 marks)
|“ ,25_{3 ;*_ =S
............................. S .
42 | T e
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AL LT T ‘:‘u-ﬁ:.)l

(©)  State two cnvironmental conditi :
onditions necessary for s N
: process N 1o take place (2 '
marks)
_____ ‘\ P“‘ e, i l-_ /' ( f'\-:'._--
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